B.Sc. 5th Semester (General) Examination, 2021 (CBCS)

Subject: Chemistry
Paper: DSE-1A

Time: 2 Hours Full Marks: 40

Candidates are required to give their answers in their own words

as far as practicable.
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Answer any eight questions from the following: 8x5=40
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1. Write the IUPAC nomenclature of K4[Ni(CN)>(Ox).]. Draw the cis- and trans isomers of the
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following compounds:

(NH3)2IrCI(CO); (HsP)2PtHBr
Ka[Ni(CN)2(Ox)2] &= IUPAC ST (TR | fNTBR (TR cis- AR trans STAIIIOI S Si<h-

(NH3)2IrCI(CO); (HsP)2PtHBr
What is the primary valency of the central element in the coordination compound
[Pt(NH3)s]Cls? Which amongst the following metal carbonyls are inner orbital complexes
having diamagnetic property?

Ni(CO)a; Fe(CO)s; V(CO)s; Cr(CO)s
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Calculate the crystal field stabilization energy of high spin d* octahedral complex. Does the
complex [Ni(H20)6)?* show Jahn-Teller distortion? Explain.

WEGADBT d*- high spin (N CFSE 47 NN 97 [Ni(H20)6]* Jahn-Teller distortion (RATI
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Write the differences between double salt and complex salt. What happens when an excess
aqueous KCN solution is added to the mixture of copper sulphate and cadmium sulphate and

then H,S gas is passed through the solution? explain.
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What is the lanthanide contraction? What effect does it have on the radii of the transition
metals of a given group?
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What are transition elements and why are they called so? What do you mean by d-d

transition?
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Distinguish between accuracy and precision. Two students analyzed a copper sample and
obtained the following results:
A-Set: 18.1, 18.4, 18.3, 18.6, 18.2, 18.3

B-Set: 17.9, 17.7, 17.6, 18.0, 17.8, 17.9

Calculate the mean and standard deviation in both sets of results.
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A-Set: 18.1, 18.4, 18.3, 18.6, 18.2, 18.3

B-Set: 17.9, 17.7,17.6, 18.0, 17.8, 17.9

FATHEAT GOF (5T6 91G 438 W IS sterar 5411

8)

Write two examples of biofertilizer. Which is commonly used as a nitrogen fixer in paddy
fields? Which disease is caused in children due to excessive use of nitrate fertilizers?
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Why does fuel have different heating values? What is carbonization of coal? What is knocking

number?
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10) What are the principles used in the manufacture of glass? How is feldspar used in glass? What
is the difference between glazed tiles and vitrified tiles?
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